
vex.com 

Copyright 2016, VEX Robotics Inc. 
2016-05-26 

This document will provide detailed specifications, BOM information, and assembly instructions for 

the Official Competition Field. 

Teams who do not need an “official” field should refer to the separate low-cost field guide for cost-

reduction options. 

Please note: this field utilizes the VEX Competition Field Perimeter (278-1501) developed by VEX 

Robotics. Instructions and specifications for this field perimeter are available in a separate 

document, and are important for the field assembly. 

This document is divided up into four sections: 

1. Field Overview

2. Field Bill of Materials

3. Field Specifications

4. Field Assembly Instructions

There is also an accompanying STEP file which can be imported into most 3D modeling programs 

(i.e. Autodesk Inventor). This 3D model not only shows the “official” setup of a VEX Robotics 

Competition – Starstruck Competition field, but it also includes detailed models of all the individual 

field elements. 

For additional game-play detail, please refer to the VEX Robotics Competition – Starstruck 

competition manual. 

For more information on reducing costs on an unofficial field construction, refer to the 

accompanying “Low Cost Field” document located online at vexrobotics.com.

1



vex.com 

Copyright 2016, VEX Robotics Inc. 
2016-05-26 

The game VEX Robotics Competition – Starstruck is played on a 12ft x 12ft foam-mat, surrounded 

by a sheet-metal and polycarbonate perimeter. In two corners of this field are colored PVC pipes 

which denote hanging bars. The field is bisected by a Fence made of 1.26in square PVC extrusion 

and plastic gussets. Foam Stars and pillow-like Cubes are placed across the field and atop the 

Fence throughout. 

For more details and specific game-play rules, please refer to the VEX Robotics Competition – 

Starstruck competition manual. 

2



vex.com 

Copyright 2016, VEX Robotics Inc. 
2016-05-26 

All of these items are available for purchase from: www.vexrobotics.com. 

Part Number Description 

278-1501 VRC Field Perimeter Frame & Hardware 

278-1502 VRC Foam Field Surface – (36) Grey, (2) Red, (2) Blue Tiles 

275-1401 VRC VEXnet Field Controller 

Part Number Description 

Quantity 

per Full 

Field 

276-4848 VRC Starstruck Game Element Kit 4 

276-4897 VRC Starstruck Field Element Kit 1 

Part Number Description 

276-4848 VRC Starstruck Game Element Kit 

3

http://www.vexrobotics.com/


vex.com 

Copyright 2016, VEX Robotics Inc. 
2016-05-26 

This section will outline the specifications that are most important to teams designing a robot to 

compete in the VEX Robotics Competition – Starstruck. Though many of the critical dimensions are 

included in this section, it may be necessary to consult the separate assembly guide and 3D CAD 

models of the field for an additional level of detail. If you can’t find a dimension in the specifications, 

we include a FULL model of the field to “virtually” measure whatever dimension is necessary. 

Field components may vary slightly from event to event. This is to be expected; teams will need to 

adapt accordingly. It is good design practice to create mechanisms capable of accommodating 

variances in the field and game pieces. 

4

























vex.com 

Copyright 2016, VEX Robotics Inc. 
2016-05-26 

This section will detail the steps required to construct the competition field for the VEX Robotics 

Competition – Starstruck. The field utilizes the “VEX Competition Field Perimeter” (278-1501). For 

specifications and instructions for assembling this frame, please refer to the separate “VEX  

Competition Field Perimeter” manual. 

Also refer to the separate low-cost field document, which provides lower cost options to teams not 

needing a full “official” competition field. 

The following tools are required for assembly of the official VEX Robotics Competition – Starstruck 

field: 

 3/32” Allen Wrench

 11/32” Wrench

 1/4” Wrench

 Phillips Head Screw Driver

 Side Cutters or Scissors (for cutting zip ties)

16























Step 4:

Attach (3X) Horizontal Fence Bars to the Vertical Fence Assembly using (12X) 8-32 x 1.75" 
screws and (12X) 8-32 Nylock Nuts. Repeat this (2X).

Horizontal Fence Bar

8-32 x 1.75" Screw

8-32 Nylock Nut

Make (2X)

276-4847-000 Rev4

Vertical Fence Post Assembly
Dwg  No

2016-05-26

Description

ALL DIMENSIONS ARE IN INCHES.

Project

Release

VRC 2016-2017 Sheet 22 of 28

27



1/4-20 x 0.5" Screw

"Fence To Wall" Bracket

Wing Nut

Step 5:

Attach (2X) "Fence to Wall" Brackets to the center holes in the Field Periemeter using
(4X) 1/4-20 x 0.5" Screws and (4X) 1/4-20 Wingnuts. Repeat this (2X) for other side of
the Field.

276-4847-000 Rev4

Wall Gusset Assembly
Dwg  No

2016-05-26

Description

ALL DIMENSIONS ARE IN INCHES.

Project

Release

VRC 2016-2017 Sheet 23 of 28

28



8-32 x 1.75" Screw

8-32 Nylock Nut
DO NOT tighten the 
bolts until the Fence 
is fully assembled.

NN

Use Upper Hole

Use Lower Hole

Step 6:

Attach the Fence segment to the Fence to Wall Bracket using (2X) 8-32 x 1.75" Screws
and (2X) 8-32 Nylock Nuts. Repeat this (2X) for other side of the Field.

276-4847-000 Rev4

Fence Attachment
Dwg  No

2016-05-26

Description

ALL DIMENSIONS ARE IN INCHES.

Project

Release

VRC 2016-2017 Sheet 24 of 28

29










	276-4847-000 Rev2.PDF
	ISO
	Drawing View1

	Field Perimeter Specs
	Drawing View92
	Drawing View95

	Top
	Drawing View2

	Tape Lines
	Drawing View81

	Crowd View
	Drawing View80

	Corner Assembly
	Drawing View137
	Drawing View138
	Detail View L (1 : 10)
	Drawing View140
	Detail View M (1 : 10)

	Object Placement
	Drawing View6
	Drawing View116

	Fence Specs
	Drawing View7
	Drawing View9

	Vertical Hanging Bar Specs
	Drawing View74
	Section View D-D
	Section View E-E

	Star Specs
	Drawing View17
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View128
	Drawing View129

	Cube Specs
	Drawing View23
	Drawing View26
	Drawing View120

	Driver Station
	Drawing View90

	Star Assembly
	Drawing View115
	Drawing View118

	Rubber Foot Assembly
	Drawing View122
	Drawing View124
	Drawing View125
	Drawing View126
	Detail View J (1 : 3)

	Tile Assembly
	Drawing View99

	Base Plate Assembly
	Drawing View42
	Drawing View43

	Base Plate Assembly 02
	Drawing View44
	Drawing View45
	Drawing View78
	Drawing View132
	Detail View K (1 : 9)

	Fence S0
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Fence S1
	Drawing View34
	Drawing View35

	Fence S2
	Drawing View36
	Drawing View37

	Fence S3
	Drawing View38
	Drawing View39

	Fence S4
	Drawing View40
	Drawing View41

	Fence S5
	Drawing View46
	Drawing View48
	Drawing View53

	Fence S6
	Drawing View49
	Drawing View51
	Drawing View52
	Drawing View142
	Section View N-N

	Fence S7
	Drawing View54
	Drawing View55
	Drawing View56

	Fence S8
	Drawing View57
	Drawing View60

	Tape Assembly
	Drawing View136

	16-17 VRC Field
	Drawing View102
	Drawing View105
	Drawing View114
	Drawing View127


	276-4847-000 Rev2.PDF
	ISO
	Drawing View1

	Field Perimeter Specs
	Drawing View92
	Drawing View95

	Top
	Drawing View2

	Tape Lines
	Drawing View81

	Crowd View
	Drawing View80

	Corner Assembly
	Drawing View137
	Drawing View138
	Detail View L (1 : 10)
	Drawing View140
	Detail View M (1 : 10)

	Object Placement
	Drawing View6
	Drawing View116

	Fence Specs
	Drawing View7
	Drawing View9

	Vertical Hanging Bar Specs
	Drawing View74
	Section View D-D
	Section View E-E

	Star Specs
	Drawing View17
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View128
	Drawing View129

	Cube Specs
	Drawing View23
	Drawing View26
	Drawing View120

	Driver Station
	Drawing View90

	Star Assembly
	Drawing View115
	Drawing View118

	Rubber Foot Assembly
	Drawing View122
	Drawing View124
	Drawing View125
	Drawing View126
	Detail View J (1 : 3)
	Drawing View146
	Detail View R (1 : 2.5)

	Tile Assembly
	Drawing View99

	Base Plate Assembly
	Drawing View42
	Drawing View43

	Base Plate Assembly 02
	Drawing View44
	Drawing View45
	Drawing View78
	Drawing View132
	Detail View K (1 : 9)

	Fence S0
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Fence S1
	Drawing View34
	Drawing View35

	Fence S2
	Drawing View36
	Drawing View37

	Fence S3
	Drawing View38
	Drawing View39

	Fence S4
	Drawing View40
	Drawing View41

	Fence S5
	Drawing View46
	Drawing View48
	Drawing View53

	Fence S6
	Drawing View49
	Drawing View51
	Drawing View52
	Drawing View142
	Section View N-N

	Fence S7
	Drawing View54
	Drawing View55
	Drawing View56

	Fence S8
	Drawing View57
	Drawing View60

	Tape Assembly
	Drawing View136
	Drawing View144
	Detail View P (1 : 10)

	16-17 VRC Field
	Drawing View102
	Drawing View105
	Drawing View114
	Drawing View127


	276-4847-000 Rev4.PDF
	Tape Assembly
	Drawing View136
	Drawing View144
	Detail View P (1 : 10)


	276-4847-000 Rev4.PDF
	ISO
	Drawing View1

	Field Perimeter Specs
	Drawing View92
	Drawing View95

	Top
	Drawing View2

	Tape Lines
	Drawing View81

	Crowd View
	Drawing View80

	Corner Assembly
	Drawing View137
	Drawing View138
	Detail View L (1 : 10)
	Drawing View140
	Detail View M (1 : 10)

	Object Placement
	Drawing View6
	Drawing View116

	Fence Specs
	Drawing View7
	Drawing View9

	Vertical Hanging Bar Specs
	Drawing View74
	Section View D-D
	Section View E-E

	Star Specs
	Drawing View17
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View128
	Drawing View129

	Cube Specs
	Drawing View23
	Drawing View26
	Drawing View120

	Driver Station
	Drawing View90

	Star Assembly
	Drawing View115
	Drawing View118

	Rubber Foot Assembly
	Drawing View122
	Drawing View124
	Drawing View125
	Drawing View126
	Detail View J (1 : 3)
	Drawing View146
	Detail View R (1 : 2.5)

	Tile Assembly
	Drawing View99

	Base Plate Assembly
	Drawing View42
	Drawing View43

	Base Plate Assembly 02
	Drawing View44
	Drawing View45
	Drawing View78
	Drawing View132
	Detail View K (1 : 9)

	Fence S0
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Fence S1
	Drawing View34
	Drawing View35

	Fence S2
	Drawing View36
	Drawing View37

	Fence S3
	Drawing View38
	Drawing View39

	Fence S4
	Drawing View40
	Drawing View41

	Fence S5
	Drawing View46
	Drawing View48
	Drawing View53

	Fence S6
	Drawing View49
	Drawing View51
	Drawing View52
	Drawing View142
	Section View N-N

	Fence S7
	Drawing View54
	Drawing View55
	Drawing View56

	Fence S8
	Drawing View57
	Drawing View60

	Tape Assembly
	Drawing View136
	Drawing View144
	Detail View P (1 : 10)

	16-17 VRC Field
	Drawing View102
	Drawing View105
	Drawing View114
	Drawing View127


	276-4847-000 Rev4.PDF
	ISO
	Drawing View1

	Field Perimeter Specs
	Drawing View92
	Drawing View95

	Top
	Drawing View2

	Tape Lines
	Drawing View81

	Crowd View
	Drawing View80

	Corner Assembly
	Drawing View137
	Drawing View138
	Detail View L (1 : 10)
	Drawing View140
	Detail View M (1 : 10)

	Object Placement
	Drawing View6
	Drawing View116

	Fence Specs
	Drawing View7
	Drawing View9

	Vertical Hanging Bar Specs
	Drawing View74
	Section View D-D
	Section View E-E

	Star Specs
	Drawing View17
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View128
	Drawing View129

	Cube Specs
	Drawing View23
	Drawing View26
	Drawing View120

	Driver Station
	Drawing View90

	Star Assembly
	Drawing View115
	Drawing View118

	Rubber Foot Assembly
	Drawing View122
	Drawing View124
	Drawing View125
	Drawing View126
	Detail View J (1 : 3)
	Drawing View146
	Detail View R (1 : 2.5)

	Tile Assembly
	Drawing View99

	Base Plate Assembly
	Drawing View42
	Drawing View43

	Base Plate Assembly 02
	Drawing View44
	Drawing View45
	Drawing View78
	Drawing View132
	Detail View K (1 : 9)

	Fence S0
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Fence S1
	Drawing View34
	Drawing View35

	Fence S2
	Drawing View36
	Drawing View37

	Fence S3
	Drawing View38
	Drawing View39

	Fence S4
	Drawing View40
	Drawing View41

	Fence S5
	Drawing View46
	Drawing View48
	Drawing View53

	Fence S6
	Drawing View49
	Drawing View51
	Drawing View52
	Drawing View142
	Section View N-N

	Fence S7
	Drawing View54
	Drawing View55
	Drawing View56

	Fence S8
	Drawing View57
	Drawing View60

	Tape Assembly
	Drawing View136
	Drawing View144
	Detail View P (1 : 10)

	16-17 VRC Field
	Drawing View102
	Drawing View105
	Drawing View114
	Drawing View127





